LESSON 7.1

Name

Date

Practice B
For use with pages 375-382

Tell whether the ordered pairis a
2. -2, 1);

1. (4. 1);
x+2y=6
3x +p =11

4. (-4, —06);

3x—y=26

—x+2y=4§

Use the graph to solve the linear system. Check your solution.

7. x—y=8§
Xx+y=-2

K10. Jx—2v=16

Solve the linear system by graphing. Check your solution.

13. v = 3x
y=4x -1
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Sx = 2p==12
x+3y=1

5. (—4,3)
4x + 3y = —-12
x+ 2y = -6

8, 5x—y=-9

yt+2x=2
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solution of the linear system.

(4, —3);

—3x + 2y = —18
6x —y =27
(=2, ~5);

=i = =3
—x+3r=-13

9. 2x+3y=2
—-2x+y=6

12. 6x+ 2y =28

—3x + 4y =16

15) —3x—y= -1

2 + 4y = —16
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